DU BEIEd

Topic:- BELED S2 eng

1) Two co-workers were discussing something, when the first told the second, “You can say that again”. What did the first

co-worker mean to say?

[Question ID = 7164]

1. Please repeat, | didn't hear you. [Option ID = 28650]
2. Can you say that again? [Option ID = 28651]

3. You can repeat this to others. [Option ID = 28652]
4. That’s true, | agree. [Option ID = 28653]

Correct Answer :-
e That’s true, | agree. [Option ID = 28653]

2) Savita's spendthriftness bothered her sister a lot. She advised her to her expenditure and
some of her money for savings every month. Select the correct option, from the ones given below, to fill in the blanks.
[Question ID = 7165]

1. set aside; set up [Option ID = 28654]

2. set down; set aside [Option 1D = 28655]

3. set down; set out [Option 1D = 28656]

4, set aside; set in [Option ID = 28657]

Correct Answer :-
e set down; set aside [Option ID = 28655]
3) Sylvia really likes to maintain her skin. Hence, the sudden break of acne on her face, freaked her out.

[Question ID = 7166]

1. into [Option ID = 28658]
2. up [Option ID = 28659]
3. down [Option ID = 28660]
4. out [Option ID = 28661]

Correct Answer :-
@ out [Option ID = 28661]

4) Select any one word that can be used to complete both the sentences below:

Sentence 1. A of chicks littered the ground each morning.

Sentence 2. Every Sunday she forced her to accompany her to the church.

[Question ID = 7167]
1. brood

[Option ID = 28662]
2. pack

[Option ID = 28663]
3. herd

[Option ID = 28664)]
4. school

[Option ID = 28665]
Correct Answer :-
e brood

[Option ID = 28662]

5) Complete the sentence:

The coach reserved for ladies in the train was very crowded. As it entered the next station, travellers for
space, as more passengers boarded the coach.

[Question ID = 7168]

1. made

[Option ID = 28666]
2. intrigued

[Option ID = 28667]
3. reeded
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[Option ID = 28668]
4, jostled

[Option ID = 28669]

Correct Answer :-
® jostled

[Option ID = 28669)]

6) Complete the sentence:

He chose to avoid the comforts that other officers often claimed as a right. He had an childhood, devoid of
luxuries, and was happy with what he had.

[Question ID = 7169]
1. austere

[Option ID = 28670]
2. content

[Option ID = 28671]
3. indulgent

[Option ID = 28672]
4. reserved

[Option ID = 28673]
Correct Answer :-
& austere

[Option ID = 28670]

7) Choose the correct option that explains the meaning of the underlined phrase:

The destruction caused by the tsunami was widespread. Rescuers said that it was hoping against hope to expect survivors in
the village nearest to the coast.

[Question ID = 7170]
1. expecting something to happen that is highly unlikely

[Option ID = 28674]
2. expecting something to happen that is likely

[Option ID = 28675]
3. exploring what could be done in a given situation

[Option ID = 28676]
4, expressing confidence about a situation or event

[Option ID = 28677]

Correct Answer :-
e expecting something to happen that is highly unlikely

[Option ID = 28674]

8) “Butis it right, my son, to keep mum and not say what you consider just and fair?”

Which one of the following can be used as a synonym for the underlined word, without changing the meaning of the
sentence?

[Question ID = 7171]
1. Social

[Option ID = 28678]
2. Mother

[Option ID = 28679]
3. Silent

[Option ID = 28680]
4. Afraid

[Option ID = 28681]
Correct Answer :-
e Silent

[Option ID = 28680]
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9) “The child was staring out through the open window with a dazed horror in her eyes.”




Which of the following is a verb in the above sentence?

[Question ID = 7172]
1. Horror

[Option ID = 28682]
2. Staring

[Option ID = 28683]
3. Eyes

[Option ID = 28684]
4. Through

[Option ID = 28685]
Correct Answer :-
e Staring

[Option ID = 28683]

10) “Macavity’s a Mystery Cat: he’s called the Hidden Paw —
For he’s the master criminal who can defy the Law.”

What is the meaning of the underlined word in the lines above?

[Question ID = 7173]
1. Kill

[Option ID = 28686]
2. Disobey

[Option ID = 28687
3. Change

[Option ID = 28688]
4. Follow

[Option ID = 28689]
Correct Answer :-
e Disobey

[Option ID = 28687]

11) Seven has been quite upset about Mr. Nath’s gaunt appearance and was sure that he was starving.

Find the antonym of the word 'gaunt’.

[Question ID = 7174]
1. haggard

[Option ID = 28690]
2. lean

[Option ID = 28691]
3. skinny

[Option ID = 28692]
4. plump

[Option ID = 28693]

Correct Answer :-
® plump

[Option ID = 28693]

12) Which of the following is incorrect?

[Question ID = 7175]

1. A school of whales

[Option ID = 28694]
2. A murder of crows

[Option ID = 28695]
3. A herd of elephants

[Option ID = 28696]
4. A pack of lions

[Option ID = 28697
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Correct Answer :-
® A pack of lions

[Option ID = 28697]

13) Meeta told her mother, “I’m not hungry. I'll eat when | want to.”

Choose the correct way of writing the above text in reported speech from the options given below:

[Question ID = 7176]
1. Meeta told her mother that I'm not hungry and I’ll eat when | want to.

[Option ID = 28698]
2. Meeta told her mother that she is not hungry and will eat when she wants to.

[Option ID = 28699]
3. Meeta told her mother that she wasn't hungry and would eat when she wanted to.

[Option ID = 28700]
4. Meeta told her mother that she wasn’t hungry and will eat when she wants to.

[Option ID = 28701]

Correct Answer :-
e Meeta told her mother that she wasn't hungry and would eat when she wanted to.

[Option ID = 28700]

14) ‘I bumped into my teacher at the shopping centre’.

The phrasal verb used in the above sentence means:

[Question ID = 7177]

1. To hit someone hard

[Option ID = 28702)]
2. To pat somecne on the back

[Option ID = 28703]
3. To push someone

[Option ID = 28704]
4. To meet someone by chance

[Option ID = 28705]

Correct Answer ;-
¢ To meet someone by chance
[Option ID = 28705]
15) Which of the following adjectives cannot be used with the word ‘Fashion’?
[Question ID = 7178]
Unique [Option ID = 28706]
Trendy [Option 1D = 28707]

Pathetic [Option ID = 28708]
Empathetic [Option ID = 28709]

o Lt ) =

Correct Answer :-
¢ Empathetic [Option ID = 28709]

16) Rohit had fought with his parents to be on the football team. When his parents asked him about his teammates, he
concealed the fact that he was having a rough time with them. Rohit was:

[Question ID = 7179]

Hiding the fact that he was skipping the sessions. [Option ID = 28710]

Confessing the fact that he was training hard with his teammates. [Option ID = 28711]

Confessing that his teammates played roughly. [Option ID = 28712]

Hiding the fact that he was having problems with his teammates. [Option ID = 28713]

o kPt —

Correct Answer :-
e Hiding the fact that he was having problems with his teammates. [Option ID = 28713]

17) The company is seeking to market its new product soon.

Identify the grammatical category of the underlined word in the context of the given sentence:

[Question ID = 7180]
1. Noun
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[Option ID = 28714]
2. Adjective

[Option ID = 28715]
3. Verb

[Option ID = 28716]
4. Adverb

[Option ID = 28717
Correct Answer ;-
s Verb

[Option ID = 28716]

18) Select the suitable option for the underlined phrase :

During the summer season there was an acute shortage of water. Unfailingly, Amrita used to get up at the first ring of the
water supply alarm.

[Question ID = 7181]
1. would

[Option ID = 28718]
2. may

[Option ID = 28719]
3. should

[Option ID = 28720]
4, shall

[Option ID = 28721]
Correct Answer :-
* would

[Option ID = 28718)]

19) Write appropriate question words in the blank spaces in the following dialogue.

Naisha: did you get this book?

Samaira: Yesterday morning.

Naisha: is your sister crying?

Samaira: Because she has lost her doll.

Naisha: room is this, yours or hers?

Samaira: It's ours.

Naisha: do you go to school?

Samaira: We walk to school. It is nearby.

[Question ID = 7182]
1. where, why, which, when

[Option ID = 28722]
2. why, how, which, why

[Option ID = 28723]
3. where, why, whose, when

[Option ID = 28724]
4. when, why, whose, how

[Option ID = 28725]

Correct Answer :-
¢ when, why, whose, how

[Option ID = 28725]

20) Can you give me some clay, please? Use suitable words in place of italicized nouns.

[Question ID = 7183]

1. A lump of clay [Option ID = 28726]
2. A bundle of clay [Option ID = 28727]
3. A piece of clay [Option ID = 28728]
4. A bunch of clay [Option ID = 28729]

Correct Answer :-
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e A lump of clay [Option ID = 28726]

Topic:- BELED S2 hindi

1) “eit¥ i} 7/a @ acal 261 & v ordl Sitaet dicll sraen adya Fenfta @2 8 2 3ud AT 30 81 2 U o Slidet colel- IusiTpIarG o1 colot
JeUIcol dglol U 512 & i 33 A& Seulcel MU fere &; anud sile1 @ e & g &l ceen acd seit & susler- e & gz & o Rerfey 3

U ZIgH dGolid ARI & 3eulc i Arad few 8, uz amu e 9f¢t oIl 8 6 Siror-3metsirel 3mst @ agial 3 st afyg oft acar a1 & iz 3nu Icure
@1 waftha g om 2 8| ”

STENYI @ ML U3 [Cu 310 aserell @l W&l ayA A eomd, 3fi? ofla [ oR) Resedl 3 3 3181 Riaseu @) ool

|. arsnz 3 Icaigal o1 a6 Siell

Il. citemt @ sitaer 3 Jusilorarg a1 s1dl gion

. Frurg méicat afiz 33l Siesena 3 DI Fddcel DI of Bloll
IV. @il 3 seure Erdicor &1 gl ast agon

[Question ID = 7197]
1.0V, 0L 1,

[Option ID = 28782]
2. 01,1, IV, il

[Option ID = 28783]
30,0V, 1, 1

[Option ID = 28784]
4. 1,10, 1, IV

[Option ID = 28785]

Correct Answer ;-
e ||, 0,1V, I

[Option ID = 28783]
2) forsarferfiae 3 31 adoll @1 efte 3 @wiar w1 916 95 &7

[Question ID = 7198]

1. sosfiferd [Option ID = 28786]
2. apvit [Option ID = 28787]
3. o [Option 1D = 28788]
4. frmerr [Option ID = 28789]

Correct Answer :-
e aaidtierr [Option 1D = 28786]

3) “wa st argeft o=, et iz yare # dad gu  aidfcadafe ofiz s @ st wada gars # Fera- a1 gsan gan sart age |7
Jwies dfepal # Ymifdva ereel @i amerT wHor: & -

[Question ID = 7199]
1. dewl-aer, aifdae

[Option ID = 28790]
2. dedds, 35en

[Option ID = 28791]
3. 33d-334, e

[Option ID = 28792)]
4, asd-asd, fon

[Option ID = 28793]
Correct Answer :-
® oeni-aod, A
[Option ID = 28790]

4) “Jr= v g3 gol-od @, AT D
3131~ 31191 slrcIcil-aledl =M el
R dftpedl 3 Immifdpa dfvpen 3 @la a1 ‘acioR’ 8 -

[Question ID = 7200]
1. =Ueh afcins

[Option ID = 28794]
2. eI JERn
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[Option ID = 28795]
3. 3Gy aciesTs

[Option ID = 28796]
4, "W AT

[Option ID = 28797
Correct Answer :-
T 115 0 G O g 5 ) B3

[Option ID = 28795]

5) “us Rpas g &t ara & [ efte @ aneftaie @1 cier vas wmemzor At diar wwsE &, safds s21 ormaa A Bicsht @1 PR @ sogeerdt =1 3
& w3 feen s wasan 2|

=31 aren9r 3 fper cien &1 aaf 81 38 2?7

[Question ID = 7201]
1. ot S ot T

[Option ID = 28798)
2. Gt & ol ol a0 @ #ata o ol JeER

[Option ID = 28799]
3. off 3w awpd &

[Option ID = 28800]
4. St 23 @ @ 3ol Sl @1 FEeEe o &

[Option ID = 28801]

Correct Answer :-

® Gt Sur apal ot g o sava o ol s
[Option ID = 28799]

6) Frafalaa i 3 Rew oree 3 serityma FarA ol 2 -

[Question ID = 7202]

1. d@ewoma [Option 1D = 28802]
2. amazur [Option ID = 28803]

3. dt-awt [Option 1D = 28804]
4, wgeigers [Option I1D = 28805]

Correct Answer :-
® gaigena [Option 1D = 28805]

7) “ga & o1 dic Raen 9rg-71a 3imal U3,
azn g3 sil Raen we y3-a3ida siol a3?
Sl of frem set 33 a2 o Al aavr,
ESTAT el €511

#Hot, BN g ol |7
Jwefe ufesel @ foatei3aa & 31 sma a=n & ?

[Question ID = 7203]

1. el a5 3 arel @52, s a5 3 ale

[Option ID = 28806]
2. dfieht enf o & s Bt gt A&

[Option ID = 28807]
3. @ ©I IR D, SASAR Bl il

[Option ID = 28808]
4, et ufes ufes ser ajpm, ¥ sen & @

[Option ID = 28809]
Correct Answer :-
o fieft aif? e 2 amr & A a
[Option ID = 28807

8) “fren wal ag I Rrrm # Fave S SIPT RN
anfeiatel 3 3MT- 30 IR DI Hel arm | 7
IwRiw uftpel 3 ofd weon aem & b -
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[Question ID = 7204]
1. 33 Yag Fas sicct st &

[Option ID = 28810]
2. 33 ftaer # #erepeRt J6on 2

[Option ID = 28811]
3. ag 3 J dfed 3@ RN 2

[Option ID = 28812]
4, gx1 3ty gur 3 Sast o € usar &

[Option ID = 28813]

Correct Answer :-
e ag ¥ 3 dfe 36 arn &
[Option ID = 28812]
9) fomaifcil¥aa 3 31 wia A Faen YT gd gr1 WRw & 7
[Question ID = 7205]
Jupireprarg o szl [Option ID = 28814]
fawfen [Option ID = 28815]

fprreps otxg [Option |D = 28816]
it amet 2 [Option ID = 28817]

P

Correct Answer :-
o gmienTars o5t sEni [Option 1D = 28814]

10) “di weol archt it & s atfa 3 o | ”
gz ulis @ ‘di wea’ o1 aref E -

[Question ID = 7206]
1. oma &lal areft &

[Option ID = 28818]
2. «u foreror arcft 8

[Option ID = 28819
3. yas & mict &

[Option ID = 28820]
4, T et aredt &

[Option ID = 28821]

Correct Answer :-
® Jjag gl arclt

[Option ID = 28820]

11) ‘oarel’ ek e &7
[Question ID = 7207]

. aemsfer &1 [Option 1D = 28822)

i gienz yares &t [Option 1D = 28823]
arxer &1 [Option 1D = 28824]

. #fepale &1 [Option ID = 28825]

Ja b R —

Correct Answer :-
® SRy oiess g @51 [Option 1D = 28823]
12) RweifeRaa A A oiar a1 ofd srma 27
[Question ID = 7208]
aemsia [Option ID = 28826]
arster [Option ID = 28827]
awftz [Option ID = 28828]
Fyefenivr fepnadt foaen [Option 1D = 28829]

da bad B —

Correct Answer :-
o pfosior Rt feren [Option 1D = 28829

13) zavi- gjwmen iz e f[avr- H 3 Ymifdsa oree A oo § -

[Question ID = 7209]
1. uldm arra

[Option ID = 28830]
2. wrdenfins aram
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[Option ID = 28831]
T B [ s (5]

[Option ID = 28832)
4, SURIERD

[Option ID = 28833]

Correct Answer :-
L E_[EFEII?IW
[Option ID = 28833]

14) ‘Ro3ft Ga A Brweon’ ufp o1 sl 8 -
[Question ID = 7210]

2t aywr 31 frwemn | [Option ID = 28834]
fesft et 31 frseren | [Option 1D = 28835]
olict @ oo | [Option ID = 28836]

st @1 31 farperon | [Option ID = 28837]

o kad P —

Correct Answer ;-
o fsit & 3 faseen | [Option 1D = 28837

15) -6l 3 @lor a1 20 37
[Question ID = 7211]

aegzu [Option ID = 28838]

aafenrze [Option ID = 28839]

oo @ [Option 1D = 28840]

[ st [Option ID = 28841]

b R —

Correct Answer :-
e g zuma [Option 1D = 28840]

16) ‘ofte dadl arel & & 3 Rrorer o 22

[Question ID = 7212]
1. farfden

[Option ID = 28842]
2. e

[Option ID = 28843]
3. &

[Option ID = 28844]
4. um

[Option ID = 28845]

Correct Answer :-
® il
[Option ID = 28845]
17) ‘@adl’ o rafaRaa 3 A Reaer valard 3?7

[Question ID = 7213]

1. oy [Option 1D = 28846]
2. sapner [Option ID = 28847
3. gr [Option ID = 28848]

4, f&sa [Option ID = 28849]

Correct Answer :-
e g [Option ID = 28848]
18) ‘sfauer’ Rva Faommn & afer 87
[Question ID = 7214]
1. wigltz arsaemangt @6t [Option 1D = 28850]
2. ahsgnr acaa &t [Option ID = 28851]
3. wemd Bis f&erws ot [Option 1D = 28852]
4, o Sielt &t [Option ID = 28853)

Correct Answer :-
o gi¥ignrr acaa &5t [Option ID = 28851]

19) “doura ofet dl del @iddA, of Ul urs simet 3
wfaer &t A glig divpal Readbt saen &7
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[Question ID = 7215]
1. ot fgm &t

[Option ID = 28854]
2. Firpeicer U &t

[Option ID = 28855]
3. aeflzarn &

[Option ID = 28856]
4. ottt &t

[Option ID = 28857

Correct Answer :-
® ol feen bt

[Option ID = 28854]
20) wor A @lal A1 "aga’ oreg 87
[Question ID = 7216]
1. @uf [Option ID = 28858]
2. aw [Option ID = 28859]
3. il [Option ID = 28860]
4, apa [Option ID = 28861]

Correct Answer :-
e (sl [Option ID = 28860]

Topic:- BELED 52 bil

1) The mean marks of a class of forty students are 80. If the marks of two students whose scores are 24 and 22, are
removed from the calculation, what would be the new mean marks?

uas @l @ areflA sl @ siida i 80  afe 24 g 22 sios urel arel <1 9l @ 3ias s1vtent A A sa A s, a1 o afida sios Roaot sib1?

[Question ID = 7218]
1. 38 [Option ID = 28866]
2. 73 [Option ID = 28867]
3. 83 [Option ID = 28868]
4. 46 [Option ID = 28869]

Correct Answer :-
e 83 [Option ID = 28868]

2) If each observation of the data is increased by 5, then their mean

Al ariass @ yedas sraetavel A 5 &t afy @& siedl &, a1 Jorst amea

[Question ID = 7219]

1. Remains the same / ugel Stan @ 320 [Option ID = 28870]

2. Becomes five times the original mean / 1 sme=r 31 uim sfen @@ si2en [Option 1D = 28871]
3. Decreases by 5 / 5 w1 g1 gem [Option 1D = 28872

4. Increases by 5 / 5 &t gfy; @sft [Option ID = 28873]

Correct Answer ;-
® |ncreases by 5 / 5 &t gfi; sl [Option 1D = 28873]

3) Simplify 256-4(-32)

256-4(-32) ot Hva @iy

[Question ID = 7220]
1. 28

[Option ID = 28874]
2. 82

[Option ID = 28875]
3. (1/256)6

[Option ID = 28876]
4, 256

[Option ID = 28877]

Correct Answer :-

be correct?
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4) If the zeroes of the quadratic polynomial ax?+bx+c, c=0 are equal, then which of the following optio




afe frandt agug ax?+bx+c, c20 @ greer waret &, ot PrafiBaa # A wia w0 oo 78 den?

[Question ID = 7221]

¢ and a have opposite signs. / ¢ 3fiz a @ s [Aufla & [Option 1D = 28878)
c and b have opposite signs. / c afiz b & & faudia & [Option ID = 28879]
¢ and a have the same sign. / c 3fiv a @ e z9ma & [Option ID = 28880]
¢ and b have the same sign. / c afiz b @ Fr& zwma & [Option ID = 28881]

B T

Correct Answer :-
@ ¢ and a have the same sign. / ¢ 3fiz a @ R wwnar & [Option ID = 28880]

5) A cylinder and a cone are of the same base radius and the same height. What will be the ratio of the volume of the
cylinder to that of the cone?

ud detal AiT 9iay Haver anenz fozan iz Harel Hard & & derel @ A6l 3T 9iay @ MRITG! T Mo[Uld T1 gen?

[Question ID = 7222]
2:1 [Option ID = 28882]
3:1 [Option ID = 28883]
. 2:3 [Option ID = 28884]
3:2 [Option ID = 28885]

et B =

Correct Answer ;-

e 3:1 [Option ID = 28883]

6) From a cylinder of height 24 cm and base radius 10 cm, a cone of the same height and base is scooped out. The volume
of the resulting solid is

v Rrcis: bt mard 24 A iz smeme fs=n 10 I&ehcs &, 36 A Jre ars 3iie aneme aren v oiag, forwra foren sean 8 ubyomae:
BI @1 HRKT6l 8PN

[Question ID = 7223]
1. 1600w cm?

[Option ID = 28886]
2. 2400w cm?

[Option ID = 28887]
3. 1800w cm?

[Option ID = 28888]
4, 2600m cm?

[Option ID = 28889

Correct Answer :-
e 16001 cm?
[Option ID = 28886]

7) On increasing the radius of a circle by 30%, its area increases by

v gd @i ffen @1 30% age uz, 39D gwd 3 Reaelt afy 2kt
[Question ID = 7224]

1. 60% [Option ID = 28890]

2. 69% [Option ID = 28891]

3. 15% [Option ID = 28892]

4. 63% [Option ID = 28893]

Correct Answer :-
e §9% [Option ID = 28891]

8) The product of any two irrational numbers is:

Rpaft oft €1 arafyar Fizcenail @1 speNea &

[Question ID = 7225]

1. Always an irrational number. / &don oo amfdier sizen [Option |D = 28894)

2. Always a rational number. / &don vas uf¥ier sixen [Option 1D = 28895]

3. Always an integer. / &fon wo yuifas [Option |1D = 28896]

4, Sometimes rational, sometimes irrational number, / &8l af¥ier, el anfser g=e=n [Option ID = 28897]

Correct Answer :-
e Sometimes rational, sometimes irrational number. / sl of¥ier, assfl st J=en [Option ID = 28897]

9) If x + y =7 and xy = 4, then the value of x* + y3is

AR x +y =7 sz xy = 4, aa x3+y> o gea B
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[Question ID = 7226]

1. 343 [Option ID = 28898]
2. 259 [Option ID = 28899]
3. 301 [Option ID = 28900]
4, 289 [Option ID = 28901]

Correct Answer :-
e 259 [Option ID = 28899]

10) Which largest number evenly divides the sum of any ‘10’ consecutive whole numbers?

fsaal oft '10" ez gul Fzeansil & @er ol ol Ml A adl Fen gl ave A Renba o»i?

[Question ID = 7227]
1. 2 [Option ID = 28902]
2. 9 [Option ID = 28903]
3. 10 [Option ID = 28904]
4. 11 [Option ID = 28905]

Correct Answer :-
e 10 [Option ID = 28504]

11) Which of the following represents the nt" term of an Arithmetic Progression?

forrsiféilRaa 3 21 @il vas FaHiaz Yl & nd ug @1 yfifeifaea o¥n?

[Question ID = 7228]

3n+5, n is a positive integer./3n+5, n ww e ymias £ [Option ID = 28906]

3n? +3n+5, n is a positive integer./3n?+3n+5, n v gecaw yuifw £ [Option ID = 28907]

3n?- 4m2, n and m are positive integers./3nZ-4m?2, n e m wemeww g & [Option ID = 28908]
. 4mZ, m is a positive integer./4mZ, m v wencam yufas & [Option 1D = 28909]

da bad B —

Correct Answer :-

® 3n+5, n is a positive integer./3n+5, n uw genvaas yofas & [Option 1D = 28906]

12) The height and radius of a cone shaped water cup are 8 cm and 4 cm respectively. The cup has been filled with water
to half its height, find out what portion of the volume of the cup is filled with water?

UG 9is @ ARBIR @ Ulell @ wu & Harg iz e oo 8 ek afiz 4 26l  ou @t ureht 21 Fadt o @ nd o et sme, A sa Bifse
fop @u @ RETel @ 5ol sET 3t urell s 87

[Question ID = 7229]

1. Half / amem [Option ID = 28910]

2. One-fourth / was-dtens [Option ID = 28911]
3. One-eighth / amoai i&22n [Option ID = 28912)
4, One-third / vas frad [Option 1D = 28913

Correct Answer :-
® One-eighth / amoai [3een [Option 1D = 28912]

13) If the remainder on division of x 3 + 2xZ + kx + 3 by x - 3 is 21, find the value of k.

afe x3+ 2x2 + kx + 3@l x - 3 A Ronfia o uz dawa 21 2, a4l k @1 set sua bifse
[Question ID = 7230]

1. -9 [Option ID = 28914]

2. 3 [Option ID = 28915]

3. 9 [Option ID = 28916]

4. -3 [Option ID = 28917

Correct Answer :-
e -9 [Option ID = 28914]

14) Reema and Meena plan to visit Taj Mahal. What is the probability that they both will visit on the same day in the month
of January.

$tan aiiz afton ansEIsT Sirel @t wNistelr d@on W & 33! arn Yifiar & 5 @ <ol seraft @ s # v & e angy wisi?

[Question ID = 7231]

1. 30/31 [Option ID = 28918]
2. 1/31 [Option ID = 28919]

3. 1/30 [Option ID = 28920]

4. 2/31 [Option 1D = 28921]

Correct Answer :-
e 1/31 [Option ID = 28919]

pe work?
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15) A can do a piece of work in 14 days. B is 75% more efficient than A. How many days B takes to do tis



A Rp3ft & @1 14 Rar 3 g @z aian 2 B, A &t amign 75% et orimera 2 B 32t o o g1 @ 31 oo a1 cen?
[Question ID = 7232]

1. 8 [Option ID = 28922]

2. 7 [Option ID = 28923]

3. 6 [Option ID = 28924]

4. 5 [Option ID = 28925]

Correct Answer :-
e § [Option ID = 28922]

16) When a natural number x is divided by 4, remainder is 3. What is the remainder when 2x is divided by 4.

Sl U YIdpd 2=l X @l 4 3 Rpnfom fieen simar  af 9awa 3 a@rn 8 5@ 2x @1 4 A ‘nnfom e sifen at 9iawa o= gemn?
[Question ID = 7233]

1. 2 [Option ID = 28926]

2. 3 [Option ID = 28927]

3. 4 [Option ID = 28928]

4. 0 [Option ID = 28929]

Correct Answer :-
e 7 [Option ID = 28926]

17) A student was asked to divide a number by 4 and add 8 to the quotient. He however first added 8 to the number and
then divided it by 4, getting 100 as the answer. The correct answer should have been:

s 81 @ vas e o) 4 A Renfe oo siie werwa # 8 Sitsal @ e aver srm an Ereilas 3261 usd 8 @) e # oiist iz fa s 4 A
i e, s3 awe 33 3ar @ wu & 100 g feen 7181 30z glenm mfzu am:

[Question ID = 7234]

1. 104 [Option ID = 28930]

2. 106 [Option ID = 28931]

3. 107 [Option ID = 28932]

4, 108 [Option ID = 28933]

Correct Answer :-
e 106 [Option ID = 28931]

o giRean & 6 1..... 100 3 21 goft o @ ¥z, v gl Fiwn o asf &7
[Question ID = 7235]

1. 1/100 [Option |ID = 28934]

2. 1 [Option ID = 28935]

3. 1/10 [Option ID = 28936]

4. 9/10 [Option ID = 28937]

Correct Answer :-
e 1/10 [Option 1D = 28936]

19) Anika was given pocket money on January 1st, 2020. From this money, she puts Re 1 on day 1, Rs 2 on day 2, Rs 3 on
day 3 and continued doing so till fortnight, in her piggy bank. For the rest of the month, for each succeeding day, she puts
Rs 2 more than the amount put on the previous day in the piggy bank and continues doing so till the end of the month. She

has also spent Rs 168 of her pocket money and found that at the end of the month, she still had Rs 100 with her. How much
was her pocket money for the month?

1 Seradt 2020 @t sifdpar @i 3211 S Zad fGn srm en sa1 Gedl # 31 36 3ol ?fcaw 3 Usd Ko 1 u=n, o e 2 »u 3z din o 3
U, 3era 15 et ao sierdl @l adl 9a i & R gedes a1 a8 speare 3 Rioe Rer siell o afdr A 2 suv aftre sradl 2 iz #dlor @& sia
dw v el et 8 336l sruefl Sia 31 168 Hud s ot Rou & stz 3ur6l ae urn @5 ae @ i A, 39 ara ol ot 100 303 & a4 vos e
@ fere 3o S| e e an?

[Question ID = 7236]

1. 900 [Option ID = 28938]

2. 764 [Option ID = 28939]

3. 733 [Option ID = 28940]

4. 800 [Option ID = 28941]

Correct Answer :-
e 900 [Option ID = 28938]

20) Which of the following is the same as 3 thousandths + 3 tenths?

forgaiferl3aa 3 3 @oiar 711 3 sonzd + 3 cad 2 @ wewmET &7
[Question ID = 7237]

1. 3.3 [Option ID = 28942]

2. 0.303 [Option ID = 28943]
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3. 0.06 [Option ID = 28944]
4. 0.33 [Option ID = 28945]

Correct Answer :-
e (0.303 [Option ID = 28943]

21) Which of the following statements is not true about mammals?

forreifeiBan 3f A oior 211 st Faorenf¥al @ foraer d 78 oft 27

[Question ID = 7238]

1. Mammals are warm-blooded animals. / sronmdt o ager ared sfta & & [Option 1D = 28946]

2. Mammals are cold-blooded animals. / ermdt o2 zpa ard sita &0 & [Option ID = 28947

3. Mammals have a four chambered heart. / sasenfy=l 3 ar @il sz &m 2 [Option 1D = 28948]
4. Mammals have mammary glands. / Jaerenf¥ & goesjféren wd sieft & [Option ID = 28949]

Correct Answer :-

® Mammals are cold-blooded animals. / serrdl 82 a ardl sita 51 2 [Option ID = 28947

22) Seema has done heavy physical exercise. As a result of this, she is getting cramps in her legs. It is due to the
accumulation of:

e of srdl onf3fes &mrnma R, Braa afvmazascu saas G # doot s Sidl 8 216 Roaa stama @ @it & 7

[Question ID = 7239]

1. Acetic Acid / wafiiees awer [Option |D = 28950]

2. Carbon dioxide / wra sEaligsss [Option 1D = 28951]
3. Lactic Acid / @iffrew swer [Option ID = 28952]

4. Nitric Acid / amsfew swer [Option ID = 28953]

Correct Answer :-

® |actic Acid / ¢iffrew swer [Option ID = 28952]

23) In the process of fertilisation, there is fusion of nuclei of the sperm and the egg. As a result, the number of nuclei
present in a zygote is:

fortrarer &1 gfdpam 3, opmnvy iz 3iS @ onfdics oI Hellel aldl & URvIFaU, ud Yodsl 3 Hlsle onfiie &t iz &:
[Question ID = 7240]

None / @t aidf [Option ID = 28954]

. 1 [Option ID = 28955]

. 2 [Option ID = 28956]

. 4 [Option ID = 28957]

T A

Correct Answer :-
e 1 [Option ID = 28955]

24) Which of the following statements is incorrect about carbon monoxide?

frraiferBana oo 3 A @it J1 o6l oidet dfeiiiaamEs @ an i s 87

[Question ID = 7241]

It is produced from incomplete combustion of fuels such as petrol and diesel. / =& Uk 3ftz isier 5i3 Suat @ afagar A scurfda &kn & [Option ID = 28958]
It is a poisonous gas. / =5 v fafcd sia & [Option ID = 28959]

It contributes strongly towards greenhouse effect. / w1 slffsiaraa ysma o e ggom 3 =Nerers &om & [Option 1D = 28960]

It reduces the oxygen-carrying capacity of the blood. / @& ¥ &1 alfasfisre agot g @) @ @sen & [Option ID = 28961]

bt ) =

Correct Answer :-
® |t contributes strongly towards greenhouse effect. / =g sflsiarsar yama o @B g 3 e S & [Option ID = 28960]

25) Choose the set that represents only the biotic component of a habitat.

3 oA o1 el BfR & Bl simara & Sifaas g @ gorfar 2

[Question ID = 7242]

1. Tiger, deer, grass, soil / amm, &1, @, Bt [Option ID = 28962]

2. Insects, water, aquatic plants, fish / @ie, =, =0t uia, #@mclt [Option 1D = 28963]
3. Insects, frog, fish, aquatic plants / @te, diew, andl, a#d da [Option ID = 28964]
4, Sand, turtle, crab, rocks / ¥1, awsu, @ass1, urerz [Option 1D = 28965]

Correct Answer :-
® |nsects, frog, fish, aquatic plants / bie, #iew, awddl, aad did [Option 1D = 28964]

26) If a person suffers from loss of vision at night, then which vitamin deficiency will he be suffering from?

afe v cufep aflor efRcdloren A difya 2, a) ag e Refier &1 ol &I asis a1 27

[Question ID = 7243]
1. B1 [Option ID = 28966]
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2. C [Option ID = 28967]
3. D [Option ID = 28968]
4. A [Option ID = 28969]

Correct Answer :-
e A [Option ID = 28969]

27) In which of the following parts of the human body, Cartilage is not present?

foraiteri3aa 31 21 Ferea otz @ Rpar f3e=1 3 swilRer ol Bredl?
[Question ID = 7244]

1. Upper part of ear / astei a1 3vudt i&een [Option 1D = 28970]

2. Nose / & [Option ID = 28971]

3. Kidney / ajef [Option ID = 28972]

4. Joints of Bones / afgsel &t aifér [Option ID = 28973]

Correct Answer :-

e Kidney / agf [Option 1D = 28972]

28) A farmer has sown 200 grains of wheat from a single plant, from which 150 tall and 50 dwarf plants are produced.
What will be the genotypes of the offsprings?

war et of sig @ 200 s dlsr are, Grardl 31 150 did &3 siiz 50 w1k Uil Jegcol gu  se1ell dier @ sileilersu a=n gon?
[Question ID = 7245]

1. TT, Tt [Option ID = 28974]

2. TT, TT [Option ID = 28975]

3. TT, Tt, tt [Option ID = 28976]

4. TT, tt [Option ID = 28977]

Correct Answer :-

e TT, Tt, tt [Option ID = 28976]

29) If an aluminium spoon, which is at a temperature of 30 degree Celsius, is put in water, which is at a temperature of 40
degree Celsius, then the heat will-

afe v ugfiform @ s s 30 RBe] At @ aaeme uz 2 331 40 3]} At @ aasre arcl urell 3 sre i 8, Al IWI-

[Question ID = 7246]

1. Flow from aluminium spoon to water. / veifdforem cwara 3t urelt 3 garfaar @sft | [Option ID = 28978]

2. Flow from water to aluminium spoon. / ursll 31 ooffdiform awra # ganfda 8eft| [Option 1D = 28979]

3. Not flow from one body to another. / wes 31 a3 & genfda ordf 2sft | [Option |D = 28980]

4. Will flow from spoon to water first and then from water to spoon. / usel awwa 3 uislt 3 yanfaa Sefl [ uelt 3 awra & | [Option 1D = 28981]

Correct Answer :-
e Flow from water to aluminium spoon. / uwll 31 vefifcrmen aeare 3 gaifaa @i | [Option ID = 28979]

30) The power of a lens is -

b cid &bl S

[Question ID = 7248]
1. Directly related to its focal length. / 3arbt wiasar gt 3 sften sy 2andt 2

[Option ID = 28986]
2. The reciprocal of its focal length. / 3udht wiesar gt @1 e 2t 8

[Option ID = 28987
3. Not related to its focal length. / 3adt o gt 31 i o 8

[Option ID = 28988]
4. Always double of its focal length. / 3aefit wesa gt 31 sdton gopelt 2t 8

[Option ID = 28989]

Correct Answer ;-

e The reciprocal of its focal length. / 3t wiasar gt wor e axdt &
[Option ID = 28987]

31) A bike moving at a high speed, collides with a stationary bus. How would you compare the forces acting on them?

U A5 oIsl 3Tfel 31 3 §U U ES1 5% a2 I TAL & 3TU ol U cIoTol dicl &l bl defoll 2 MmIsl?

[Question ID = 7249]

1. The bus exerts a greater force on the bike. / @2 arsw w2 aifdias aer eomdt &
[Option ID = 28990]
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2. The bus exerts a force on bike but the bike doesn’t exert a force on the bus. / a3 aEs W ad aendl 2 Uz G ay Uz SF ad a8l cendl

[Option ID = 28991]
3. Both bus and bike exert the same amount of force on each other. / a3 3wz Sieil v g2Y W 790l A # o oPm &

[Option ID = 28992)]
4, The bike exerts a greater force on the bus. / aEe ax oz afdes ao e=nd 2

[Option ID = 28993]

Correct Answer :-
® Both bus and bike exert the same amount of force on each other. / @2 3 ama Sl v g2) ws 79l A # a0 oPIET &
[Option ID = 28992]
32) The temperature of a plastic plate, an iron rod and a wooden ball is the same as that of a human body, i.e. 37°C.

Nidhi puts all the above three objects in water, which is at a temperature of 98.6°F. After a few minutes, she records the
temperature of each of the objects. Which of the following is correct?

U 3T wie, UMb tile 93 312 U obsl ol 3 @I aiudia Aoled @ onfifsm ameet 37 °C @ auaz & fof?r sa dioil azqail o uefl 3
sreicdl 8, Bt amaanet 98.6 °F 2 oo fieridd @ ar a8 yedas avrq @ aadrel o5 oxdil 8 Beefaaa 3 31 ola a7 wé 27

[Question ID = 7250]

1. Temperature of wooden ball < Temperature of plastic plate < Temperature of iron rod/ et & die o ampme < wnfeo & O o s < dls o5 T
FIUEIG]

[Option ID = 28994]
2. Temperature of plastic plate < Temperature of wooden ball < Temperature of iron rod/ wenf3ees &l @ie @1 ase < cassl & dla @ auss < die B8 ®l
AT

[Option ID = 28995]
3. Temperature of plastic plate = Temperature of wooden ball = Temperature of iron rod / unfice &t e a1 muser = aadl 6 Sig o1 musma = dis g5 o
IOl

[Option ID = 28996]
4. Temperature of plastic plate = Temperature of wooden ball = Temperature of iron rod/ wnfes & e @51 @ = ofdral &6t 3 @ T < die o @l
AT

[Option ID = 28997]

Correct Answer :-

® Temperature of plastic plate = Temperature of wooden ball = Temperature of iron rod / wifiew &1 @i @1 auwE = cess! &1 #ig o1 aua = dis 55 ol
IHTG
[Option ID = 28996]

33) A person with a height of 2Zm holds a bag of 20 kg over his head for 20 minutes. The work done by him will be:

2 ez & asard ard v wfes & ge B12 uzr 20 feie ao 20 @pep @1 aar 3o 33a1 3A@ R v srn orl wefaliaa d 21 4 sen
[Question ID = 7251]

400 J [Option ID = 28998]

Zero / gws [Option ID = 28999]

392 J [Option ID = 29000]

300 J [Option ID = 29001]

P s

Correct Answer :-
e Zero / gza [Option ID = 28999]

34) If an iron nail kept in an open jar gets rusted, the mass of rusted iron nail

Aafe vep s &t dhier @t wel aeror 3 1 ST & dl 32 SioT Pl ST 8, SieT oft 3 el ot dbla @1 uR

[Question ID = 7252]
1. undergoes no change / o1 agema @@l Eamden

[Option ID = 29002]
2. would be lesser than the mass of iron nail / & ot d@hte @ sme 3 o B8B0

[Option ID = 29003]
3. would be more than the mass of iron nail / &l o e @ s 31 A 8en

[Option ID = 29004]
4, would be equal to the mass of iron and oxygen / @ig 3z sifasiism @ 2@ s1F aen 2en

[Option ID = 29005]

Correct Answer :-
® would be more than the mass of iron nail / & &1 &l o sz 31 afdes Sen

[Option ID = 29004]

India’s largest Student Review Platform



35) Tooth enamel made of calcium phosphate will undergo decay if pH of mouth is lower than 5.5. What should you do
regularly, to avoid tooth decay?

afe g @1 diva 72 5.5 A ©a & al DRYRE BRI I Goll Saacd I &RI Bl6l cPleN idl Wl HAsal I adiel @ e anuwmt Brifda =a 3 a=n
@Ial anfgA?

[Question ID = 7253]

1. Maintain pH of mouth below 5.5 by using chewing gum / =z om @ 3wier gRT #g @ diva 3az o 5.5 3 sl gome szen [Option 1D = 29006]

2. Regularly rinse with slightly acidic solution / Brfd su 3 vaflfde dia 31 #s amw @zan [Option 1D = 29007]

3. Maintain pH above 5.5 by using basic toothpaste / gemse @ gueier 31 it v a2 ot 5.5 @ 3wz gam 2x0an [Option 1D = 29008]

4. Use toothpaste which is slightly acidic / dft cendee 3ueiiar aaon oit fb eitsh ot veftfdas & [Option ID = 29009]

Correct Answer :-
e Maintain pH above 5.5 by using basic toothpaste / gelize @ 3uelsr 31 i va sae &1 5.5 & Hu2 gaie %N [Option 1D = 29008]

36) The decomposition of vegetable matter into compost is an example of

aotzufer ucrel @1 3 3 suaes gon, oiffalaa i A Roamr o 8 7

[Question ID = 7254]

Endothermic reaction / swmeindt yfeifdn [Option ID = 29010]

Double displacement reaction / faRemumr gfefasn [Option 1D = 29011]
Displacement reaction / Rsemgsr gidfdzn [Option ID = 29012]
Exothermic reaction / swngndt yfrfan [Option ID = 29013]

et B =

Correct Answer :-
e Exothermic reaction / swmgnft yferfizen [Option 1D = 29013]

37) Which of the following is an example of an element?

forear 3 21 @ial 31 vas G @1 ISTEI0T &7

[Question ID = 7255]

1. Water / uwilt [Option ID = 29014]

2. Silicon / fiférwia [Option ID = 29015]

3. Potash / tiersr [Option 1D = 29016]

4, Magnesia / dwelifSenm [Option 1D = 29017]

Correct Answer :-
e Silicon / faférdia [Option 1D = 29015]

38) Which of the following is only a physical change?

foraot & A1 @wiol 211 Waer vw siifcras ufvacior 37

[Question ID = 7256]
1. Melting of candle wax when heated / spi 261 Uz silwrerdt @ 791 @1 Macen [Option D = 29018]

2. Ripening of fruits / well @1 wasan [Option ID = 29019]
3. Digestion of food in our stomach / @A ammerr # siser @ uraa [Option 1D = 29020]
4, Burning of candle when heated / ami giat uz aiteardt a sieron [Option 1D = 29021]

Correct Answer :-
& Melting of candle wax when heated / » &5 ur sitwardt @ #iw a1 foeen [Option 1D = 29018]

39) When water in a paper cup is heated over a candle then it is observed that

TS @ wu A urell o S/ Mg @ Hu s [ srn Y a8 urn srn [s-

[Question ID = 7257]
1. The paper cup catches fire instantly, and water spills out of it. / @Fw @ ©u o g a1 uws off iz uell B sen

[Option ID = 29022]
2. The paper cup becomes hot and the temperature of water remains the same. / wera o1 @u a6t & swen iy wett @ omasrer # o agana ol amn

[Option ID = 29023]
3. The base of the paper cup becomes black and the temperature of water remains the same. / @@l @ @0 @ el @1 391 @ 8 R0 W el & Anprs 3 ©E

e e M
[Option ID = 29024)]

4. The temperature of the water inside the cup increases and the water may even boil on further heating. / @wu @ aig2 32 gv urell @1 (UG dG RN den
elrar afz apf avoar ur ursll Fae ot 3w 8

[Option ID = 29025]

Correct Answer ;-
e The temperature of the water inside the cup increases and the water may even boil on further heating. / o @ 352 351 &2 welt @ (AR a6 R0 T

£fi=1 3t ot orel v urelt e #t s &
[Option ID = 29025]
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40) ldentify from the following, a woman emperor, who belonged to the Delhi Sultanate Dynasty, and faced major
opposition by her own people.

forsafeiiaa 3 3t ves afden o @ usanfor, fSrTar Acaora der @ izl 9« fapen 3z 5191 srast & aell Err fRRYer Sicen usr?

[Question ID = 7258]

Begam Hazrat / @sm &5z [Option 1D = 29026]
Rudramadevi / sgaamdl [Option 1D = 29027]
Begam Rokeya / @sm1 wdben [Option [D = 29028]
Raziyya / #f3rn [Option ID = 29029]

B T

Correct Answer :-
® Raziyya / #foren [Option 1D = 29029]

41) To improve agriculture in the Bengal province, the East India Company implemented a policy called

dorret Qi 3 @it 3 PR @ BRI $3¢ s weuel! of v siifer aey &, et wer s en-
[Question ID = 7259]

Ryotwari / 3wt [Option ID = 29030]

Permanent Settlement / zemefl aayaza [Option ID = 29031]

Mahalwadi / sizrengl [Option 1D = 29032]

. Zamindari / sefierdt [Option 1D = 29033]

B T R

Correct Answer :-
® Permanent Settlement / zerlt dctaza [Option 1D = 29031]

42) Which of the following was a message that Ashoka propounded through Dhamma?

I D of LEA D T ool 3 A wiar A1 FS9r Gen?

[Question ID = 7260]

1. Worshipping God / %z &t 3ursran aszan [Option |D = 29034]

2. Performing religious rituals / efifes sepaonet fawmen [Option 1D = 29035]

3. Following mythology / diafires smeerenall &1 arerar [Option 1D = 29036]

4. Treating all creatures with compassion / it Sftal & gft genegn [Option 1D = 29037]

Correct Answer :-
® Treating all creatures with compassion / it Sital & gft genggen [Option 1D = 29037]

43) A three-volume history of Mughal emperor Akbar’s reign, written by his friend and courtier Abul Fazl, was titled as:

FPTET 9IIIH 3Ba: @ RGBT @ shiera @ diar w3t 3 sua fing afie ceardl sga wea o o &, Gt ofides &:

[Question ID = 7261]
1. Ain-i Akbari / andal arpadt

[Option ID = 29038]
2. Akbar Nama / srasasamn

[Option ID = 29039]
3. Sulh-i kul / ¥as-uv-gse

[Option ID = 29040]
4. Babumama / amEzemm

[Option ID = 29041]

Correct Answer :-
e Akbar Nama / srrwrseimen

[Option ID = 29039]

44) Stripurushtulna, a book that criticises the social differences between men and women, is written by :

Fflymuadgeion, e Y sil i iz ypa o da glel arcl wmeierns fiewra &l anclaen ol 8, o fersdt orft
[Question ID = 7262]

. Tarabai Shinde / emrars f9ic [Option ID = 29042]

Pandita Ramabai / df3en ssmend [Option ID = 29043]

Jyotirao Phule / s=iferr wet [Option 1D = 29044]

Begum Rokeya Sakhawat Hossain / @em sdben srmmaa g3la [Option 1D = 29045]

bk =

Correct Answer :-
e Tarabai Shinde / armn @i [Option 1D = 29042]

45) Which of the following statements is correct about the Lok Sabha?

cilpal @ and d, forder of 21 Dlel AT HeEl I8 37
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[Question ID = 7263]
1. The Lok Sabha consists of 12 members nominated by the President. / etasasn & 12 scr ameufdt gian anfder 8 &

[Option ID = 29046]
2. Two-third of its members retire every second year. / & @i ad s Gl-faE e Jarfoged a1 o &
[Option ID = 29047]
3. Once the Lok 5abha passes the budget or any other money related law, the Rajya Sabha cannot reject it. / aifs v @2 ds 2w of asic @ fao sHaelt oo
e a3 e, ol 265 A 3 37 oidl @ M
[Option ID = 29048]
4. Lok Sabha is not subject to dissolution. / & Ftem sier o 2t st

[Option 1D = 29049]

Correct Answer :-

® Once the Lok 5abha passes the budget or any other money related law, the Rajya Sabha cannot reject it. / aif& ves &z eites 3w o asic @0 faa Feed owom
a5 fem, oY 2rser Amn 3N 2E ofdl @y Jas
[Option ID = 29048]

46) Which of the following statements is not correct about the work of a Gram Panchayat?

SJI3 TR @ Rl @ an i Ber # A wler 3 weer 318t ot &7

[Question ID = 7264]

1. Construction and maintenance of water sources, roads, drainage, school buildings. / ST 3jia, s=w, Greowlt, RAeree &t s anfe o e 3 Sweda
Tmall

[Option ID = 29050]

2. Making laws on the subject of the Concurrent list. / st et o Fger u2 astegat aeian
[Option ID = 29051]

3. Levying and collecting local taxes. / Fenfirs @53 @l ae] @zan Az a3fcon

[Option ID = 29052]
4, Executing government schemes related to generating employment in the village. / apar & Jraene Gor oz 3 awdiin sandt Aiaenail ot ens) o

[Option ID = 29053]

Correct Answer :-
& Making laws on the subject of the Concurrent list. / smmad! it @ e oz @em @eten
[Option ID = 29051]

47) Which of the following was called ‘the heart and soul’ of our constitution by Dr. Bhim Rao Ambedkar ?

forgor & A oA 31 Maaa Fsw? of sAR Afdene B & iz anear assr an?
[Question ID = 7265]

1. Right to Constitutional Remedies / wfenforr 3uai an aftrore [Option 1D = 29054]
2. Preamble / gyzamen [Option ID = 29055]

3. Right to equality / smmern @1 aftree [Option 1D = 29056]

4, Cultural and Educational Rights / sismfonr siie difdrr affore [Option 1D = 29057

Correct Answer :-

# Right to Constitutional Remedies / siffenfars 3uami oo afdrarz [Option 1D = 29054]

48) When people say that those who belong to a particular religion, sex, race or economic background are ‘stingy’,
‘criminal’ or ‘violent’, they are expressing which one of the following?

ot fepeft fagra ent, feist, vt srerar anfifes gegyfin 31 wwdfti afepdl @1 dler 'sia’, "aaerelt’ =0 'Rae’ e &, da a fowa 3 A 53 gerla 27
[Question ID = 7266]

1. Discrimination / #igmra [Option ID = 29058]

2. Injustice / amwemer [Option |D = 29059]

3. Stereotype / =fgag o [Option 1D = 29060]

4, Exclusion / amasfa [Option 1D = 29061]

Correct Answer :-
e Stereotype / Figag emom [Option ID = 29060]

49) Which of the following can generally be used to determine the development of a country?

AT iz UT U ¢9I @ et o o 3 31 el foreritya Reen som s 87
[Question ID = 7267]
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1. Per capita income / yfereafes amr [Option 1D = 29062]
2. Per capita income, average literacy level and health status of its people / yfereafes arer, afisa snear w2 afiz esll & sarzey axqf¥afa [Option ID = 29063]
3. Per capita income, average literacy level, health status and happiness index of its people / gitraier s, sfiera snsa w12, dEll &t Fawe awgiaf s

Fpiarett Zreniss [Option 1D = 29064]
4. Average income and average literacy level / sfier amer afte sfter smsreen 0z [Option 1D = 29065]

Correct Answer :-
e Per capita income, average literacy level and health status of its people / yffreifts amer, afiewr smemar e sz dei & smzes aegffafr [Option 1D = 29063]

50) Jute grows well on alluvial soil and requires high temperature, heavy rainfall and humid climate. Which of the following
countries may NOT be able to produce jute due to its climatic conditions?

Sie 3916l @ Rl sielle firedl wad) suyes 8 aiiz 33 gea amane, wrdl auf iz sty siorarg aif2d 81t 2 or 3 3 ostor a1 Sor srushl srerary
afyf3-erfer @ o7 Sie oy Ieurcol ol @ urer ?

[Question ID = 7268]

1. India / amza [Option 1D = 29066]

2. Uzbekistan / s=affssams [Option ID = 29067]

3. Egypt / firgg [Option ID = 29068]

4. Serbia / =fifem [Option ID = 29069]

Correct Answer :-
e Serbia / afden [Option ID = 29069]

51) Globalisation is the process of:

dedtepaor ves gfdsen 3:

[Question ID = 7269]

1. Foreign Trade and integration of foreign markets / el camrz ity [goll arsnat o1 smeses [Option 1D = 29070]

2. Interlinking production of goods and services across countries / Soit @ dla asg aflz Janall @ sruresl @1 sitsal aedt [Option D = 29071]
3. Spreading of production of goods and services by MNCs / ag-aedfa @uferll gran aeqail afle Sl @ seuca @1 Gena [Option 1D = 29072]
4. Rapid integration or interconnection between countries / g ueblepan =0 3g] @ dta sirawee [Option D = 29073]

Correct Answer :-
e Rapid integration or interconnection between countries / i vdbtaaur @m amet @ dita s [Option 1D = 29073]

52) Which of the following statements best defines ‘Poverty Line’?

forgor & A1 wior 211 werer "srdldl 3aar @ A« sfaa ufysnfta war 37

[Question ID = 7270]

1. A person is considered poor if his / her consumption level falls below the national average. / Fa wifts @61 ardta wen amen & Braes Jusien sz e afisa &
oitdd amen & [Option 1D = 29074]

2. A person is considered poor if his / her purchasing level falls below the ‘minimum level’ as defined by the government in power. / 3a =Ifts @t =rila
Al SO & R a0 IR gl Ry ‘oo ¥’ @ offd Br omn & [Option ID = 29075]

3. A person is considered poor if his / her income or consumption level falls below a given ‘'minimum level’ as defined by the government in power. /
321 wIftp @t adla #Aon S & wafe 33 3IRT T 3weT R AoR gl oria syeem w7 @ offd Br et 2 [Option ID = 29076]

4. A person is considered poor if his / her tax paying level falls below a given ‘minimum level” of the national average. / 331 =i1fts @t srta e smen & =1
DT T2 SRl w2 [ R ‘oeend Itk afiont Far @ ofta oem swn & [Option 1D = 29077]

Correct Answer ;-

e A person is considered poor if his / her income or consumption level falls below a given ‘minimum level’ as defined by the government in power. /
31 cftn o artdla aen omen & wfS 3adt amer wn 3usiter w2 wzoan g Rt seen w2 o it B ol & [Option 1D = 29076)

53) Which of the following is the defining feature of a secular state?

forgar A A wial M v epiforeder s &1 et Aoraa 87

[Question ID = 7271]
1. State has an official religion and consistently promotes it. / 31 @1 ves anféemtyes i & ofiz ae Bras 331 qaifi¥a @sm 8

[Option ID = 29078]
2. State does not have an official religion but it still promotes it. / sse an o8 #ft oo anfdeoitse oef oridf 3 2 oft as 33 gant¥a am &

[Option ID = 29079]
3. State has an official religion but it never promotes it. / 35 @1 v anffEeiiis cpl £ oz ag 33 mofl oft genf¥a s @

[Option ID = 29080]
4, State does not officially promote any one religion as the state religion. / s anféremfys =a 31 ©Beaft off oo el &1 e & el &5 =0 A ganfda @dl o

[Option ID = 29081]

Correct Answer :-
e State does not officially promote any one religion as the state religion. / e anftrmitys Fa 31 Boalt it oo et @t oo @ wet O w0 3 yonfa @@t oo

[Option ID = 29081]

54) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason
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Assertion (A): Granite is an example of intrusive igneous rock which exists in the form of small grains.
Reason (R): The molten magma cools down deep inside the earth’s crust slowly.

Select the correct option from the given alternatives.

sffrpeci(A): Jonse APol agloll ©I Ud Ic1ev1 & 5l [ goier wu 3 ame sird 2
a® (R): gedt & adél @& sicz sreard ao Raan g3n doan ef¥-¢h &1 8len 2
forgor freseu i A1 w8l Rreseu gl

[Question ID = 7272]
1. Both (A) and (R) are correct, but (R) does not explain (A) / st (A) afiz (R) =&t &, aftser (R) (A) ot zuee ol @ooen |

[Option ID = 29082)]
2. (A)is correct and (R) is incorrect / (A) &t & afiz (R) arew &

[Option ID = 29083]
3. (A)isincorrect and (R) is correct / (A) #1cwi € afiz (R) 2wt &

[Option ID = 29084)]
4. Both (A) and (R) are correct, and (R) explains (A) / @il (A) aftz (R) 2t 2 , afie (R) (A) @t 7uee a@woen 2

[Option ID = 29085]
Correct Answer ;-
® (A)is incorrect and (R) is correct / (A) awener & aiiz (R) 25t &

[Option ID = 29084]

55) Given below are two statements

Statement (A): The vast alluvial plains of north India are almost devoid of economic minerals.
Statement (B): The region of alluvial plains of north India is a new geological structure as compared to other parts of India.

Select the correct option from the given alternatives.

@l (A): Ia2 sra @ fena sidle dictal aeniel aféfe mios o1 dafaa &
el (B): 3az sea @ Siclle  Jicroll @I 8], I3 @ Mo HIP1l bl delall I ol yppila-Hden 2
1231 s eyt 3 31 71dt Rieseu &1 e o

[Question ID = 7273]
1. Both (A) and (B) are true, but (B) does not explain (A). / &al (A) aitz (B) 2w &, afdsar (B), (A) o suse oridf avoen &

[Option ID = 29086]
2. (A)is true and (B) is false. / (A) 3w & afiz (B) srera &

[Option ID = 29087
3. Both (A) and (B) are false. / @&t (A) afiz (B) s &

[Option ID = 29088]
4, Both (A) and (B) are true, and (B) explains (A). / =i (A) 3z (B) s &, sz (B), (A) o =t 7wee @ooen &

[Option ID = 29089]

Correct Answer :-
® Both (A) and (B) are true, and (B) explains (A). / @il (A) afiz (B) =ee &, afiz (B), (A) &1 @@l xuve wveen &

[Option ID = 29089]

56) Which one of the following places receives the highest rainfall in the world?

forgor 3 3 wiar i sPEIE Uz fra 3 Fa ufte aui Bt 37

[Question ID = 7274]

1. Silchar / Bz [Option 1D = 29090]

2. Mawsynram / sif¥sizm [Option |D = 29091]
3. Cherrapunji / @engsit [Option ID = 29092]
4. Guwahati / sperdt [Option ID = 29093]

Correct Answer :-
® Mawsynram / mBmam [Option 1D = 29091]

57) The location of the iron and steel industry was shifted from a region close to coal fields, canals and railways to flat land
near sea ports, because:
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[Question ID = 7275]
1. lron ore was found near sea ports. / iz 3RPFT s Ul © o U= @ 8

[Option ID = 29094]
2. Market areas were developed near the sea port. / 3% ursil @ Brpe aen: [ola 4

[Option ID = 29095]
3. Availability of sufficient water to supply a large iron and steel plant in all seasons / il #iwwi 3 diz e sewm seiei & syl o BF weta s suerer en

[Option ID = 29096]
4, Steel works had become very large and iron ore had to be imported from overseas. / s3urt a5 @rl aga ag sr=n a3 offe arE o el 3 s o
WS &l

[Option ID = 29097]

Correct Answer :-
# Steel works had become very large and iron ore had to be imported from overseas. / s3urt an @Rl ag ag arn a1 di2 ofs e o) [Beel 3 arm oz
USe £

[Option ID = 29097]

58) Which are the basic tenets of Gandhi’s notion of non-cooperation?

I. Launching a full civil disobedience campaign.

Il. Surrender of titles that the government awarded.

lll. Garnering mass support from some specific regions.

IV. Boycott of civil services, army, police, courts, legislative councils, schools, and foreign goods.

yeel & sriehard) emzon & e Rigia oo 87

|. gof axfeern srasn sfdrmet 953 @won

Il. 33epz @1= yerel @i sirel arell 2RIl o1 et

ll. o1 @ mw Hifda giql w1 se1 weier S[eren

IV. Rafdrer Jransii, Jon, gfer, screadl, Rensr afyacl, ool siiz Aol avasil o afdver

[Question ID = 7276]
1. I, 1 and Il only / B I, Il siw 111

[Option 1D = 29098]
2. 1,1l and IV only / R 1, 11 3z IV

[Option ID = 29099]
3. I, land IV only / B |1, Il afiz IV

[Option ID = 29100]
4. Il and IV only / B 11l sfw IV

[Option ID = 29101]

Correct Answer :-

o | |land IV only / f3ns 1, 1l afiz IV
[Option ID = 29099]

59) Given below are three statements. Examine them in the context of shifting cultivation in colonial India.

I. The Government banned shifting cultivation.
Il. It was difficult for the government to calculate taxes from shifting cultivators.
lll. Seeds were sown in the ashes with the onset of frosty winters in the hills.

oifcl dilel werel 63 o1 & afiuforafdre siza A gog wWdl @ el 3 sordhl sifa @l

|. 3vepT of gaig, wedl uz A aem &
. g9icy ¥t & vl AveRr & @R aenel ol Rae waon Jfdae an
. usif3=i 3 aAfdai &bt grFana @ wner & 2 # e |9 s 4

[Question ID = 7277]
1. lis true, but Il and lll are false. / | v &, afdsar |1 afiw |11 arree &

[Option ID = 29102]
2. |is false, but Il and Il are true. / | aw= &, atftsar 1 afiz 1] swer &

[Option ID = 29103]
3. land |l are true, but Il is false. / | stz || 7= &, ofdsa |1 s &

[Option ID = 29104]
4. | and Il are false, but Il is true. / | 3fiz || e &, afdvar || swcer &

[Option ID = 29105]

Correct Answer :- COI Ieged u n iaﬁ
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e | and |l are true, but Il is false. / | afiz || 3w &, afesar | areer @

[Option ID = 29104]

60) An object completes a full circle around a circular path in 50 seconds. The object has

v axd 50 Jwms A v silarer ug @ arl e ow aqy guf oxd § avqg ol

[Question ID = 7322]
1. Zero displacement and zero distance covered / gis=1 [dzenust itz gioa gl crr &6

[Option ID = 29282]
2. Zero displacement and 9. distance covered/ giF fazemuat 3iz 5. gl aa di

[Option ID = 29283]
3. 2qr displacement and 9. distance cnuered;"zm Ferzemust 3fi2 9 gl co bl

[Option ID = 29284]
4. 2r displacement and gy distance covered/2r fzenust 32 qpp &t o &

[Option ID = 29285]

Correct Answer :-
® Zero displacement and 9., distance covered/ 9o Rizemdet ¥ o, ot da 61

[Option ID = 29283]
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